EARAROBEEIERT — 2 N— IBISH —F 2

019538210 (K) 21EI%#A5H

mV—?—C H5R4A4KLEOP EEDE IR
[A&4] 1 7% :2,000,000 23 :500,000  ~ 33#%&:220,000H . 43#&:120,000 @ .~ 5 & :60,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S5 N 10 | RIRFIARER 2:02.3 2-2-2-1 [38.7| — 1 469 | ZHBRE (BHE)
16| *EV—TIN * 57.0 [ o | ) Tiyis5T
Rix>in4o— B:xEYU—FI7U—F [ Z LN
N 6 | EEERAI 2:03.1 3-4-3-2 |39.3| — 4 504 | FHLEZEZ (1)
2l7l 7| NE/ VT 1= s 57.0 () 4s) | B) WS ,A—j,\
L:7V>FFE171 B:T1Jd14y RI> Izl BR&H Ty RS9 - Tr—L
—ias - s BERESE : ~7-5- - EEM (1)
slo| o 7517552 wo | BT R Rl R R
LTITRRFIEIN BRFHINZUNE S D PN
; # 5 | RINARI 2:04.0 1-1-1-3 | 40.6 | — 2 486 | EIEZREGA (SEHA)
4 2| 17% 57.0 (4) () | B vweE
RN—5—2y 7 BEY/ K- = RWE
j o4 | WTHZ 2:04.2 6-6-7-6 |39.5| — 7 476 | I1IUBBLTEE (56H4)
5 3 JIAF 57.0 (1) +1) 1EBEE
Lenx4o B:yzV-NLeo7 NEERR EIE
N - > 7 | ML 2:04.2 —5-4-4 | 40.1| — 4 HEEEER (S512)
6 4| TzVT “ "l 570 (705) o 0 6 (:;29) = B
R:F4—TZhA4 B:bhoy—Trp82T— H—L— - JvIN> - Ty— LBERS
oo | tEREE 2:04.3 8-8-9-9 [39.2| — 9 521 | BARR— (5H2)
IR Y ANt I P el .
LZNAF 12— B:v< /T BN
N . R EHEN . 10— — HOBEZ (58)
gl7lg| APEANY—=F27T A5 (21'014/'5 106 40 ° g; ZEmA
LN=Y754 B:RU-—LI>TLLA [Ea=Fier]
N N FLEFRER :05. -9-10- . — REE® (1)
955 ZhOLgHyH— 4 8 50 2(045)5 9-9-10-10 | 40.0 10 (4518) prindiy /A
LN=v774 B:ITrra41 HET77— L
S : 4 o6 | AR 2:07.0 4-3-8-8 | 42.9| — 8 488 | HLEEEZ (54)
10[8[10| ¥T7—F 57.0 ) 3 |EEBA
LT RIAYE—F B:YLTILTy bk BN 7T H 7
® 1—F—@EBIERL
1T=7r= 2,6,7,10,4,3,9,1,5,8
20—F— 2,6,10,7,4,3,9,1,5,8
Ja=5= 2,6,7,4,9,8,3,10,1,5
43—+ — 6,7,2,4,9,3,8,10,1,5
[ N5
B 6 260M 714K 6-7 420 e E 6-7 620M JEE 6-7-9 1,610
B B 6 130H4 6-9 250M B = 6-7 1,200 EE 6-7-9 6,240M
7 180H4 7-9 590M B H 6-7 1,810
9 1509

ABICOVWTRDTEEERROODE. TR LIV,




